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Discover

20% of the vehicles
were motorbikes.

We are full now.

1 o) How many motorbikes are on the ferry?
b) 25% of the vehicles on the ferry are vans.

How many more vans than motorbikes are there?

L —
| There are 5 equal
parts of 20% in 100%.
 soldivided by 5.
a 60 vehicles .

|

(C20% [ 20% [ 20% [ 20% | 20% )
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60 vehicles
I
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(10%] 10%[10%]10%  10% [10% [ 10%[10% 1056 10%) "1 found 10% of
= e

! to find 20%.
Method | Method 2 .
%:g‘ 20% is 2 x 10%. AN

10% of 60 is 6.
50,20% of 60 is 12.

There are 12 motorbikes on the ferry.

b) 25% of 60 is I5. There are I5 vans on the ferry.

There are 12 motorbikes on the ferry. 60 vehicles
r : !
15

——

The difference between
12 and 15 is 3.

There are 3 more vans than motorbikes on the ferry.
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W complete the two methods for finding 20% of £40.
40 £40
1 b)’ 1 )

T T 19 (OIIIIID

) -

40:5= 10%of 40= (]

a)

To find 10% of @
number, I divide by 10.
So, to find 20% of @
number, I divide by 20.
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O complete the table.

Starting number

10% of the number

20% of the number

400

410

4

401

41

© o Ambika takes part in a 24 km cycle ride. She has completed 20%
of the journey. How many metres has she cycled?

24 km
fi

r

( [

20% of 24km=(___ Jkm
Ambika has cycled (] m.

b) A football crowd is made up of 52,000 fans. 20% support the away
team. How many fans support the away team?

CJ

r

(

() fors support the ey team.





